Problem 1 _
(7 pts each)Which of the following sequences converge, and which diverge?
Find the limit of each convergent sequence.
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Find the sum of the series when possible.
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Problem 3

(14 pts) Find the radius of convergence and interval of convergence of the
power series
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(Remember to check the endpomts.)
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Problem 4

(a) (6 pts) Use the integral test to prove that 2 1
n(ln
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(b) (4 pts) Decide if Z Wln_‘) converges or diverges.
n=2 :
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(¢) (6 pts)Use the alternating series estimation theorem (ASET) to estimate
-1 . ! 1
Z 1) with an error of magnitude no greater than '
= n(lnn) 5(in5)
Decide if your estimate is an over-estimate or an under-estimate.
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Problem 5
(a)(6 pts) Use the fact that (ln(l + x)) =—— to find a power series expansion for the

function f(x)=In(l+ x) about the center @ = 0.
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(b) (5 pts) Use part (a) to find
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problem 6
@)(7 pts) State and prove the nth term test.
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(b)(4 pts) Decide if 3" (4



